RAXFDHEDH#R AIER ALL) ~2EFHEDHE~

ERH2B5FETRICEVWTIIEERTEEFNEN ., = RDIETAFX3. 6(£EH: <
A4+ 2X19. 6). 55 EDIE14. 3(£EH:<vAFR7. 0), LK ADHE< A FX10. 7
(&E:TA4FR24. 6) LHE->TLNET,

| —e—EBE —— 2

= RDIHEF

10%
0%
-10%
—-20%
—-30%
—40%
ol -50%
—-60%
=70%
—-80%
—90%

-100%
12/8 12/9 12/10  12/11 12/12 13/1 13/2 13/3 13/4 13/5 13/6 13/7

%/8

5t EDIHFS

20%
10%
0%
—-10%
—20%
Dr30%
-40%
—-50%
—-60%
—70%
-80%

-90%
12/8 12/9 12710 12/11 12/12  13/1 EE/;%3/2 13/3 13/4 13/5 13/6 13/7

URNERIK R DIHERS

10%

0%

-10%
-20%
-30%
DI-40%
-50%
-60%
-70%
-80%

-90%
12/8 12/9 12/10  12/11 12/12 13/1 13/2 13/3 13/4 13/5 13/6 13/7

F/R8

XDIE (RTER ALL) =[ (- 17l EH— B - BLBAESEH) AEFRMEE] x 100



	会報用DIグラフ

